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CH2：CANH 10V/div

CH3：CANL 10V/div

CH2：CANH 10V/div

CH3：CANL 10V/div

<Question1>
Following ratings 1.2, it shows the value is -27V to 40V.
On Enlarged view(our customer’s test condition), CANH was over 40V(over Absolute MAX) during 100ns.
The following 1.2 indicate continuous Absolute MAX value of CANH, CANL, SPLIT or is it included pulse condition as 100ns?

<Question2>
Following ratings 1.3, it shows the value is -150V to 100V.
It is relation to VI, so is it regardless of Absolute MAX CANH, CANL?

Could you let us know these?


